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QUESTION 1

Which statement describes how to configure Simple Loop Prevention protocol (SLPP) Rx?
A. SLPP is configured on the edge switch ports that connect to the core switch cluster.

B. SLPP is configured on the core switch cluster ports that connect to the edge switch.

C. SLPP is configured on the Inter Switch Trunk (1ST) ports of the core switch cluster.

D. SLPP is configured on the uplink ports of both the core switch cluster and the edge switch

Correct Answer: D

QUESTION 2

A technician is configuring password levels on the Ethernet Routing Switch (ERS) 8600, and wants the manager to be
able to view and edit device settings, but not to be able to change security and password settings. Which Login Level
should be set for the manager?

A. Layer 2 Read-Write Accesses

B. Layer 3 Read-Write Access

C. Read-Write-All Access

D. Read-Write Access

Correct Answer: D

QUESTION 3

In Ethernet Routing Switch (ERS) 5600 switch was added into the existing ERS 5500 stack, but ft did not form a proper
stack. Which statement describes the problem?

A. The ERS 5600 was set as the Base Unit.

B. The stack was reset for a change in Base Unit to take effect.

C. The mode parameter on the ERS 5600 switch was set to Mixed Mode.
D. The ERS 5500 was set as the Base Unit.

Correct Answer: D

QUESTION 4

The exhibit indicates the two show commands from an edge Ethernet Routing Switch (ERS) 5520-24T- PWR an
untagged frame arrives on port 10.which is configured as an access port To which VLAN will the packet be forwarded?
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A. All untagged packets will be placed in the default VLAN (VLAN 1).
B. All untagged packets will be discarded.

C. All untagged packets will be placed in VLAN 311

D. All untagged packets will be placed in VLAN 31?

Correct Answer: B

QUESTION 5

Which feature should be configured to limit which ports receive multicast streams?
A. igmp proxy

B. igmp pruning

C. igmp snooping

D. PIM-SM snooping

Correct Answer: C
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